








In an examination , Six subject A , B , C , D , E and F were available for a candidate . Out of 
Which only three had to be selected under the following condition :-
•A and B always selected together.
•One who selected A could not be select E and Vice versa.
•One who selected C or D could not select F and vice versa.
The selection of the candidates over the subjects was as follow :-

A-140 , B-140 , C-180 , D-170 , E-140 , F-70

एक परीक्षा में, एकउम्मीदवार के लिए छह लवषय A , B , C , D , E and F  उपिब्ध थे। लिनमें से केवि

तीन का चयन लनम्नलिखितशतत के तहत लकया िाना था: -
A और B हमेशा एकसाथ चुने गए।

िो Aका चयनकरता है वह Eका चयन नही ींकर सकता है and Vice versa.
C या D का चयनकरने वािा व्यखि F का चयन नही ींकर सकता है and vice versa.
लवषयो ीं पर उम्मीदवारो ींका चयन इस प्रकार था: -

A-140 , B-140 , C-180 , D-170 , E-140 , F-70

Q. How many students came in exam?
1.140 2.70 3.210 4.280 5.None of these
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A certain number of persons are sitting in the row. All of them are facing towards 
north. I sits seventh from the left of V. C sits to the left of A. Only three persons sit 
between G and A. L sits fourth to the right of K. I sits one of the place between E and 
K. A sits fourth to the left of I. K is seventh from the right end of the row. Nine 
persons sit between G and K. There are nine places between C and E. A is eight from 
the left end. G and I is not neighbor. 

एक लनलित सींख्या में व्यखिपींखिमें बैठे हैं। ये सभी उत्तरकीओर मुींह लकए हुए हैं। I, V के
बाएीं से सातवें स्थान पर बैठा हीं। C,A के बाईींओर है। केवि तीनव्यखि G और Aके बीच में

बैठे हैं। L, K के दाईींओर चौथा बैठता है। I, E और K के बीच में कही ींएक स्थान पर एक

बैठता है। A,I के बाईींओर चौथे है। पींखि के दाएीं छोर से K सातवााँ है। नौ व्यखि G और K के
बीच में बैठते हैं। नौव्यखि C और E के बीच में बैठते हैं । पींखि के बाएीं छोर से A आठवााँ है।

Gऔर I पडोसी नही ींहैं।


